TR0 IR
1 <FRT>EAHE

GE)SEEEMIFHM
X 2 FR264E | FH274E | FH284 3FEREE
T8 B e shet FRTEIEY | 43 48 32 123
(F R26F ~F m28F) HAEME RK 1,571 7,212 1,191 7,212
&l =&/ 116 81 103 81
BIAEG R B P PR & T3 B Fy 518 705 462 576
&l e fi 398 383 451 413
B2 (HEZE &=AK| 2,727| 5,809 1,611 5,809
BX Gl =/ 108 65 94 65
Gl iy 717 888 634 762
1 <FRT>HEKKH Gl =15 628 581 556 611
TEEE HK | 284% | 264% | 298% 298%
2 <FRBRT>Mm&FRIFTEE =] =/ 80% 80% 80% 80%
B! EY | 140% | 150% | 143% 145%
3 <FET>MEHH TR B! bR | 137% | 149% | 134% 139%
4 <FRT>EZITEEONH FETHRINEH

5 <vwriav>HEHAK#HH

50
6 <wriar>{Mm&ERlFEENE

~, 0o - it E 0
7 <2 iar>{li&EBlFREER FR264E FRR275 FRL28%
8 <TUiav>EZITEEDLH
FRTRAE
CEE) 160%
(1) FRTERY S ORAFBITORALYET , (BT 140 ! TR
BITMBEAT—ARRICKYRBLIT—2EREL. BEITED ° 1o OOREE 1434 W ) e
RAHNELE ) 5d . — 5y 3, ARDRE HfE>TI i : -
TlE ELELE, 120%

ERk264F E274 TERk284F
(2)KRFBOIFEY (FEBEMTEHE, [hiEEPREETT,

HIfEMRE 1/6



2 <FRET> s R5TEM4 2

Ei264F EF274 | 284 AEF | astae =K =055 ¥
& 1 (RE5005H ) 28 28 18 74 60% PR Tt Bl ST A
{fi#&5 I (500-100077) 9 14 13 36/  20% 28 28
{fi4& % I (1000-150075) 5 3 1 9 7%
{4 & IV (1500-20007) 1 0 0 1 1%
{H1%% V (200075 24 L) 0 3 0 3 2%

&t 43 48 32 123
Rl 35% 39% 26%

TR264F FR2745 Fri284

3 <FET>litsHnTEafs

TR 264 TR274% ERE284 SEMEH
B | TR | PRITERE | S | O | PR S | TR SRR | G | FHFE | SRR
eI 28 140%  138% 28 150%| 147% 18 150%| 146% 74 144% 142%
A& I 9 144% 137% 14 166% 172% 13 136%| 132% 36 144% 140%
fig®Em 5 131% 111% 3 145%  139%| 1 112% 112% 9 155% 137%
igeENr 1 128% 128% O 0% 0% O 0% 0% 1 122%| 122%
&=V, O 0% 0% 3 81% 81% O 0% 0% 3 137% 131%

F 2 Tilta R o R R R

180% 172%

LRl
1609 0 0

A) 138%37° 147 146% u ffits % T

140% 3Tt fli#& H I
120% . I CRfi -3\

W {EHEHV
100%

81%
80%
FrRi264%E ER2745 FrRi284

HIfEMRE 2/6



4 <FERT>ERITEROSH

Hieki#N ~ 15081 5~2{&|2~25(&[2.5~3E[3ZLL L] &F B4
% I 19 21 22 11 1 0 74 60%
il 10 11 9 4 2 0 36 29%
flfi4& I 2 3 2 0 2 0 9 7%
&IV 0 1 0 0 0 0 1%
ik 1 1 1 0 0 0 3 2%
=518 32 37 34 15 5 0 123
3EHE—  26% 30% 28% 12% 4% 0%
FETERITEE
25
20
15
10 =
5
0 — —— B ——
HR 1~ 156 1.5 ~21% 2~251% 2.5 ~3f8 SEALL

HIfEMR4E 3/6

— filit& I
— {fit& I

fifi % I
— BRIV
— &V



5 <Toiar>EKR#FE
GE)SEEMITAM

FErk264 FH27%E | ERH284F 3FEEE
IV EEs 2 1 3 6
HEME &K 938 1,084 519 1,084
& =/ 430, 1,084 362 362
&l 15 684 1084 465 641
B =] 684 1084 515 517
BEXZITl%E &=KX| 1,528 867 611 1,528
&l =/ 446 867 366 366
&l 15 987 867 463 705
Gl =] 987 867 412 529
TeE®=E =Kk | 163% | 80% | 118% 163% 200%
&l =/ | 104% | 80% 80% 80% 100%
&l Ty | 133% | 80% | 100% 108%
[A] R | 133% | 80% | 101% 102% 0%
6 <Iriar> M RIFEEME R
Fri26%E FR27% FERH28%E /it | axze 2
& 1 (EEES500/8KHE) 1 0 1 2 33% 5
ffi4&5 I (500-100075) 1 0 2 3 50%
i #& # 1I (1000-150075 ) 0 1 0 1 17% 1
i 4& 51V (1500-20007) 0 0 0 0 o%
ffi#% 5% V (20005 L1 E) 0 0 0 0 o% 1
&t 2 1 3 6 0

AEtEIE 33% 17% 50%

HIfEMRE 4/6

THi26%  FR27%  Fr2skE

133 133% 101% | EPFEﬁﬂ%%E
FR2645 ERE274 FRE284
T as g Al ST AN £
TERE264E TERR274 TERi284



7 <Tiav> iR TR

ER2645E ER278E ER284F SEMEH
| TR hRARAE | MM | TORE | DRIRRE| 4R | TR | DTS 4% | TR | DRRE
il 1 104%| 104% O 0% 0% 1 101%| 101%| 2 102%| 102%
M&ET 1 163%| 163% O 0% 0% 2 99%  99% 3 120%| 118%
&m0 0% 0% 1 80% 80% O 0% 0% 1 80%  80%
it VAR 0% 0% O 0% 0% O 0% 0% O 0% 0%
HKEV 0 0% 0% O 0% 0% O 0% 0% O 0% 0%
T as i Al e AR R
180% 163% "
160% B i I
LRl e
140% A% I
120% CRTiTi-E v
1049 101%99% m SV
100% -
80%
FR26%F Em275 284
8 <YLaAV>ERTEEDLH
HEAERE ~1.56E[1 5~2fZ|2~25%[25~3Z|3ELIE| AEt | BA
it I 0 2 0 0 0 0 2 31%
A& II 1 1 1 0 0 0 3 42%
fili 4% I 1 0 0 0 0 0 1 12%
&IV 0 0 0 0 0 0 0 6%
v 0 0 0 0 0 0 0 9%
=118 2 3 1 0 0 0 6
3EEE—  33% 50% 17% 0% 0% 0%

HIfEHRE 5/6



— flit& I
— {4 O
fili#% I

— IV
— gV

1~151% 1.5 ~2{% 2~251{% 2.5 ~3f& 3fELULE

HIfEHRE 6/6



	統計

